
qm=;+= ljj/)f b/ 

1 xf]l*ª af]*{ k|lt ju{lkm^ ? 5

2 /+lug lj!fkg %kfO{ z'Nssf] 10 k|ltzt 

3 ;fbf kf]i^/, kDkn]^ k|lt kf]i^/ 10 k};f 

qm=;+= ljj/)f b/ 

1 d]nf dxf]T;j nufot cGo dgf]/~hgfTds sfo{qmd s'n cfosf] 10 k|ltzt 

qm=;+= ljj/)f b/ 

1 lgdf{)f /]vb]v dd{t ;+ef/ vr{ s'n cfosf] 10 k|ltzt 

qm=;+= ljj/)f b/ 

1 b"O{ kfª\u|] ;jf/L ;fwg 
tLg #)^f ;Dd ? 5 / ;f] eGbf al( 

k|lt tLg #)^f ? 10

2 rf/ kfª\u|] ;jf/L ;fwg k|To]s #)^f ¿= 10 

qm=;+= ljj/)f b/ 

1 :jb]zL ? 20 k|lt lbg 

2 ljb]zL  *n/ 1 k|ltlbg 

cg";'rL 7

cg";'rL 11

^«]lsª z'Ns 

cg";'rL 10 

kfls{ª z'Ns 

cg";'rL 8

dgf]/~hg s/ 

cg";'rL 9 

jxfn lj/f}^L s/ 

lj!fkg s/ 


